[ B PKE~OPBRILE (K125, 12580 2, 12580 11, K105, 115, 125, 13 %) ]
NP FEEFEY D DOEFEY
PP A TEPAR  EHPOKRE | PEIEKE | TP
i i 50m’/ HLA b 50m*/ HAR | 50m’/HLLE  50m’/ H A
BRI A 0.03 0.03 0.03 0.03
T 1 1 1 1
R 1 1 1 1
bt 0.1 0.1 0.1 0.1
VA= 0.5 0.5 0.5 0.5
k% 0.1 0.1 0.1 0.1
TR ER 0.005 0.005 0. 005 0. 005
TV L KER BHEhBOE | BHSABOCE | RiHShAnC BRI Shinz &
RVl 7 =L 0.003 0.003 0.003 0. 003
NV =0 == 20 % 0.1 0.1 0.1 0.1
FShIr7puxFL 0.1 0.1 0.1 0.1
DAZA=0=1 8 0.2 0.2 0.2 0.2
5 Wi e 0.02 0.02 0.02 0.02
,2-Y7upxHy 0.04 0.04 0. 04 0. 04
F LI YrauzFLy 1 1 1 1
) VA-1,2-V /7 ruxF L 0.4 0.4 0.4 0.4
L,L,1-NUVmuaxk 3 3 3 3
= ,1,2-hYZnmuxk 0.06 0.06 0.06 0.06
,3-Y7unru~iy 0.02 0.02 0.02 0.02
F T A 0.06 0.06 0.06 0.06
DAV 0.03 0.03 0.03 0.03
FA X HNT 0.2 0.2 0.2 0.2
N¥ 0.1 0.1 0.1 0.1
1L 0.1 0.1 0.1 0.1
. 10 10 10 10
%5 % 230 230 530 530
8 8 8 8
SR 15 15 15 15
L,4-UA %9 0.5 0.5 0.5 0.5
HA XM 10 pg-TEQ/I LA | 10 pg-TEQ/I LA | 10 pg-TEQ/1 LAF | 10 pg-TEQ/1 LLF
VA=A 2 2 2 2
4 3 3 3 3
Gl 2 2 2 2
7= ) —/VJH 5 5 5 5
Bk (ERENE) 10 10 10 10
~ U H L (VEMRNE) 10 10 10 10
B L PRIE SR B R & (BOD) 600 — 600 —
Y E R (SS) 600 — 600 —
5 e Ay | 5 5 5 5
15 AR A Ll s 30 = 30 =
240 — 240 —
o wnang 80 = 80 -
o3 40 — 40 —
32 — 32 —
= Sl 8 — 8 —
4 — 4 —
KFEA A PRE (pH) 5LLEILLTF 5LLE9LLIT 5LLE9LLIT 5LLE9LLIT
JELRE 45°CLLF 45CLLF 45CLLF 45CLLF
IRFEHE = 220 220 220 220
KE
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